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Al B omlE KIE wleg 5|k BT B|E SR OK|E B
AE ] 36.9 -2.6 15.9 99.5 11.9 67. 86. 5 40.7 67.
1 H 16. 4 -2.6 6.1 99.5 13.4 61. 80. 6 49. 2 60.
2 H 19.4 -2.0 5.5 99.5 15.6 66. 81.2 50.0 65.
3 H 21.9 -2.3 9.8 96. 4 11.9 59. 81.9 40. 7 60.
4 H 25.0 1.7 13.5 95.9 17.0 64. 81.8 49. 6 63.
5 H 27.9 11.0 18.9 95.5 14. 4 66. 79. 8 53.5 66.
6 H 30. 8 17.3 22.3 97.0 36.6 76. 86. 0 63. 4 75.
7 H 36. 2 19.1 25. 7 97.0 44.5 77. 86. 0 67. 2 77.
8 H 36.9 19.1 27.0 98. 4 44. 4 73. 84. 3 63. 6 73.
9 H 30. 8 13.8 22.5 97. 6 32.0 70. 86.5 50.0 71.
1 0A4 32.1 9.4 18.3 99.5 28.0 72. 83.5 63.9 72.
114 24. 2 5.1 14.0 96. 1 22.8 68. 83.5 55.3 68.
1 2 H 19.1 -1.9 7.2 96. 6 13.0 57. 84. 2 41.5 58.
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H Bl JL 3 JEL 3 58 A H % (mm) (mm) (mm)
F 2.4 27. 4 191 1568. 112 0 193. 14
1 A 2.3 24. 7 19 39, 6 0 19. 6.5
2 A 2.3 23. 1 10 114, 9 0 53. 12.7
3 A 2.9 27. 4 26 162. 10 0 45. 16.3
4 A 2.4 21.3 17 138. 12 0 48. 11.5
5 H 2.8 922.9 21 89. 11 0 46. 8.1
6 H 2.3 21. 7 11 243, 11 0 118. 22. 1
7 A 2.2 18. 1 11 43, 8 0 15. 5.4
s A 2.7 18.5 25 84. 10 0 40. 8.5
9 H 2.3 18.8 12 92. 7 0 29, 13.1
104 2.3 26. 3 12 413. 10 0 193. 41.3
114 2.0 15.8 9 74, 11 0 29. 6.8
124 2.6 23. 6 18 74, 7 0 23. 10. 6
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10.4| 4.6| 1.7/ 1.1} 1.5 2.7] 5.7|20. 2]18.

1 1A 5.9/ 5.9| 6.8 2.5 1.8] 2.9| 5.0/ 7.6 3.2| 0.8 1.6 1.1 2.2| 6.5|23. 6(22.
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(1) BELBE (B 26 4F )
AN o [N
X5 %W (C) O (%) N (%)

H 5 BoOom (B K| B|E &|&E OK|E B|E &K OK|E B
O 35.7 -9, 15. 6 99.9 14.7 70.5 90. 7 492. 92 70.5
1 A 16. 1 -9, 5.7 95. 0 17.0 60. 4 79.5 47.8 60.0
2 A 19. 1 -9, 5.1 96. 8 16.5 66. 3 77.3 50.0 66. 3
3 A 21. 7 -9. 9.5 99.9 14.7 63. 1 84.8 42. 2 63.8
4 A 24. 8 1. 13. 4 97.6 19.3 66. 3 87.3 50.0 65. 6
5 A 28.8 10. 18.9 97. 4 19. 4 67. 1 81.9 51.6 67.7
6 A 30. 4 16. 22. 1 96. 6 30. 6 77. 4 90. 7 63.5 76. 7
7 A 35. 4 18. 25. 6 98. 6 492.1 78.5 87.8 69. 4 79. 1
8 A 35.7 18. 26. 6 99.5 47.3 77. 4 87.17 67.3 77.0
9 A 31.6 14. 21.9 98. 1 35. 6 75.3 90. 3 50.0 76. 1
104 30. 1 9. 18. 0 99.9 32. 1 77.0 87.3 67.8 76. 4
114 24. 1 5. 13.6 99.0 31.5 73. 8 88. 3 59. 6 73. 4
124 17.9 -2, 6.8 97.9 18.7| 62.3. 83. 3 45. 2 63.3
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) B (n/s) R | s | BEK o
10m 2L E
ST [P 2 e |Ax|lex| W & M i
A 3 Ak | R | smE e % (mm) (mm) (mm)
£ 2.2 28.3 144 1949.0] 123 0 158.0 15.
1 H 2.3 26.0 10 59.0 6 0 21.5 9.
2 H 1.7 16. 7 6 127.5 12 0 76.5 10.
3 H 2.6 28.3 20 229.5 12 0 57.5 19.
4 H 2.3 22.6 19 159. 5 12 0 73.0 13.
5 H 2.5 20.8 21 102.0 11 0 52.5 9.
6 A 2.0 14.1 7 347.0 10 0 155.5 34.
7 A 2.0 19.9 10 61.0 8 0 17.0 7.
8 H 2.5 18.1 18 140.5 12 0 90.5 11.
9 A 1.8 14.3 4 114.5 9 0 356.5 12.
1 0AH 1.7 18.3 5 442.5 12 0 158.0 36.
11AH 1.8 16.9 5 66. 5 10 0 18.5 6.
124 2.6 24.0 19 99.5 9 0 30.0 11.
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(2) EE#® (R 26 4F )

) 2 I S /2 N O W N7 S N 5 W B N [ = B C S =
P I N B S == EE = | B | | K % | ¥ | W

A 5l
e B 119 248| 125 4 9 8| 17| 54| 44| 191 71 12
1 A 43| 27 4 1 10 1
2 A 12| 21| 13 4 8 8 3 3 1 8 1
3 A 20 36/ 20 2 6 31 10
4 A 12| 15| 10 4 21 10 7
5 A 3l 24 3 3 31 17 1
6 A 17 6 14 16| 42 3
7 A 15 17 4 4l 42 6
8 A 23] 12 5 4 19
9 A 7 6 8 6] 22
10 A 1 16| 10 6 4 10
11 A 4 13 2 1
12 A 24| 34| 22 2 1 1 9 2
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